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Subject : GE_Q01-Q15_PRINSH1
Question ID:- 1

Rearrange the parts in correct order to make meaningful sentence.

(a) played a big role
(b) that Rana pratap’s fabled horse
(c) itis widely believed
(d) in the defeat of the enemy forces
(1) (d) @) (b) (©)
(2) (9 (b) (@) (d)
(3) (@) (b) (0) (d)
(4)  (b) (9 (a) (d)
Options:-

«1, Option ID :- 1,
=« 2, Option ID :- 2,
= 3, Option ID :- 3,

= 4, Option ID :- 4,
Answer Given:- 2, Option ID : -2

Question ID:- 2

Rearrange the parts in correct order to make meaningful sentence.

(a) and helped the migrating workers
(b) pooled their resources

(c) the better-off sections of the populace
(d) during the pandemic

(1) (a) (b) (¢) (d)

(2) () (d) (a) (b)

(3)  (d) () (b) ()

(4)  (b) () (d) (a)
Options:-

«1, Option ID :- 5,
= 2, Option ID :- 6,
=« 3, Option ID :- 7,

= 4, Option ID :- 8,
Answer Given:- 3, Option ID : -7



dell
Stamp


Question ID:- 3

Change the following sentence from Active Voice to Passive Voice.
The tourist guide had already warned them of danger
(1) Of danger they had already been warned by the tourist guide.

(2) They had already been warned of danger by the tourist guide.

(3) They had been already warned of danger by the tourist guide.

(4) They had already been warned by the tourist guide of danger.
Options:-

«1, Option ID :- 9,
=« 2, Option ID :- 10,
=« 3, Option ID :- 11,

= 4, Option ID :- 12,
Answer Given:- 3, Option ID : -11

Question ID:- 4

Change the following sentence from Active Voice to Passive Voice.
The present management is running the show right now.

(I) The show has been run by the present management right now.
(2) The present management has been running the show right now.
(3) The show is being run by the present management right now.
(4)

4)  The show is being run by the present management.

Options:-

«1, Option ID :- 13,
= 2, Option ID :- 14,
=« 3, Option ID :- 15,

= 4, Option ID :- 16,
Answer Given:- 4, Option ID : -16

Question ID:- 5

Fill in the blank with correct preposition.

The superstar need not be annoyed photographers who are clicking him repeatedly.
(1) at
(2) with
(3) from
(4) for
Options:-

«1, Option ID :- 17,
=« 2, Option ID :- 18,
=« 3, Option ID :- 19,

= 4, Option ID :- 20,
Answer Given:- 2, Option ID : -18

Question ID:- 6




Fill in the blank with correct preposition.

The shady-looking shopkeeper deals stolen goods.
(1) from

(2) with

(3) in
(4) for

Options:-

«1, Option ID :- 21,
= 2, Option ID :- 22,
« 3, Option ID :- 23,

= 4, Option ID :- 24,
Answer Given:- 3, Option ID : -23

Question ID:- 7

Choose the correct tense form from the given options.

It has been raining continuously for the last many hours.

(1) Present Indefinite
2

(2) Present Perfect
(3) Present Continuous
(4)

4 Present Perfect Continuous

Options:-

«1, Option ID :- 25,
= 2, Option ID :- 26,
=« 3, Option ID :- 27,

= 4, Option ID :- 28,
Answer Given:- 4, Option ID : -28

Question ID:- 8

Choose the correct tense form from the given options.

The play will have started by the time we reach the auditorium.
(1) Future Indefinite

(2) Future Perfect

(3) Future Continuous

(4)

4 Future Perfect Continuous

Options:-

«1, Option ID :- 29,
= 2, Option ID :- 30,
=« 3, Option ID :- 31,

= 4, Option ID :- 32,
Answer Given:- 2, Option ID : -30

Question ID:- 9




Change the following sentence from Direct Speech into Indirect Speech.

My friend said to me, “You should not have missed yesterday’s class.”

(1) My friend told me not to have missed the previous day’s class.

My friend told me that he should not have missed the previous day’s class.

(ORI e )

(
(
(

)
) My friend told me that Ishould not have missed the previous day’s class.
)

4) My friend told me that Ishould not have missed yesterday’s class.

Options:-

«1, Option ID :- 33,
= 2, Option ID :- 34,
=« 3, Option ID :- 35,

= 4, Option ID :- 36,
Answer Given:- 1, Option ID : -33

Question ID:- 10

Change the following sentence from Direct Speech into Indirect Speech.
The traveller said to me, “"Which road leads to the inn where I can spend the night 7

(1) The traveller asked me which road leads to the inn where he can spend the night.
2

(2) The traveller asked me which road led to the inn where I could spend the night.
(8) The traveller asked me for the road which led to the inn where he could spend the night ?
(4)

4 The traveller asked me which road led to the inn where he could spend the night.

Options:-

«1, Option ID :- 37,
= 2, Option ID :- 38,
=« 3, Option ID :- 39,

= 4, Option ID :- 40,
Answer Given:- 4, Option ID : -40

Question ID:- 11

Identify the part which has an error in it.
He does not heed anybody’s advice / as he has become / impervious for / facts and reasoning.

(1) (2) (3) (4)

Options:-

=1, Option ID :- 41,
=« 2, Option ID :- 42,
=« 3, Option ID :- 43,

= 4, Option ID :- 44,
Answer Given:- 3, Option ID : -43

Question ID:- 12

Identify the part which has an error in it.
On all pious occasions, / alms is given / to the poor / and the needy.

(1) (2) (3) (4)

Options:-




=1, Option ID :- 45,
= 2, Option ID :- 46,
=« 3, Option ID :- 47,

= 4, Option ID :- 48,
Answer Given:- 1, Option ID : -45

Question ID:- 13

Identify the word nearest in meaning to the given word.
ACCUMULATE

(1) donate

(2) earn

(3) amass

(4) distribute
Options:-

«1, Option ID :- 49,
= 2, Option ID :- 50,
« 3, Option ID :- 51,

= 4, Option ID :- 52,
Answer Given:- 2, Option ID : -50

Question ID:- 14

Identify the word opposite in meaning to the given word.
ANNIHILATE

(1) exterminate

(2) growing

(3) create

(4) healthy
Options:-

«1, Option ID :- 53,
« 2, Option ID :- 54,
=« 3, Option ID :- 55,

= 4, Option ID :- 56,
Answer Given:- 1, Option ID : -53

Question ID:- 15

Identify the part of speech of the underlined word.
Though he worked hard, he could not score good marks in the examination.
(1) Preposition

(2) Adverb

(3) Conjunction

(4) Interjection
Options:-

«1, Option ID :- 57,
= 2, Option ID :- 58,




=« 3, Option ID :- 59,

= 4, Option ID :- 60,
Answer Given:- 4, Option ID : -60

Subject : GH_Q16-Q30_PRINSH1

Question ID:- 16

Freafataa Tenyr i sargde ufen o7 35eR amur wr fou T wy= At 39 e

HHT AR TSt s vEl | et 3 FH o e e forEn o1, 9 U HeE 6 6l oAl =Rd 91 29
g T THTHE FE H & @A 91 SR TS a9 e o1 | 3 99 fag SR fag werew 9 Wi 9
e IR 1 STIAT T[E T 9ed o | THFG st T TT-T 8 91 9 | U o7 e ITa: a9 9
g =2 i Wil W e e |

TITE 1 TeRl e 9 v8el e 4 J1 91 9 foman a1?

(1) =4
(2) T IR el srgvEt 9
(3) <hae w@rEAE H
(4) e TET H
Options:-

=1, Option ID :- 61,
=« 2, Option ID :- 62,
=« 3, Option ID :- 63,

= 4, Option ID :- 64,
Answer Given:- 2, Option ID : -62

Question ID:- 17

Frafafea iy &t eamyEs afen 31 36 mar o1 fou 7T e w1 s i)

HeG IR fsil SYEl 9 el 3 FH o 91 R foran o1, TS U USE 1 "l |i =wd 91 39
g @t TErEE wE H @ Wwd 91 I 9 | 9e1 oe o1 | 9 9 fage oiR fag memm 1 S o
AR I=1 R STIAT 6 FFH =ed & | THHS TS HAL TM-FAF 8 A 91 Toh {7 FaliT 9r: Hiel 9 vgal
&l e Wl Hifedi W s o

TETHY IS FR Y Fel e 2
(1) e H

(2) w&AH

(3) wEitH

(4) TREgCH

Options:-

«1, Option ID :- 65,

= 2, Option ID :- 66,




= 3, Option ID :- 67,

= 4, Option ID :- 68,
Answer Given:- 3, Option ID : -67

Question ID:- 18

Frafafiaa Tery = eargdes ufen o swes emur W feu T wew =t s @it

HeGT SR TSt S YEl 9§ el A I o 91 KL foran o1, 9 S U HSE h W | = 91 3W
O T TS I H S T O | 3HAH Ghe § ol ) o911 9 7 fage &R fag verem 9 e 9
e IR 1 ST & ST TR &1 THHS TS JeL TW-FH S S 9| U {7 e ud: el 9§ 9ga
Bl = w1 Hifed I s o M|

frefafad 9 9 = o fagH i g 78 3 o 9 2

Options:-

«1, Option ID :- 69,
=« 2, Option ID :- 70,
=« 3, Option ID :- 71,

« 4, Option ID :- 72,
Answer Given:- 3, Option ID : -71

Question ID:- 19

Frafafaa Tery =t exrgde ufen 3R 35e 3muR W fou T wes =t sw @)

HAHT SR TSIt SAYEl | el A FH o 91 hL forn o, WS U HSE B HeN | Td 91 39
I W@l TS wEi H @ Wwd 91 3AH Ga | 98 oSl o1 | 9 9 fage ¢ i mere 5e S 9 )
T IR 1 STIAT 7% FHET Fed & | THHG TSt JaL THM-FH i Sid 9 | U o el Ud: il 9§ Igal
B = w1 Hifed W S o M|

TS AT - L T AR 20 e T 9 2
(1) Tm-g9H

(2) TM-EH

(3) ISN-STEA
(4) THdI-7H

Options:-
«1, Option ID :- 73,
= 2, Option ID :- 74,

=« 3, Option ID :- 75,




= 4, Option ID :- 76,
Answer Given:- 2, Option ID : -74

Question ID:- 20

Frafafiea ey & seamyds afeu 31T e e ot fau 1w uys a1 Sw e

HeHT SR Tt AvEl 9 e A I @ 9 hL forn o1, 9 d U HSE W i =wd 91 39
7 T THEE FR H & wWd 9 3% 9O § 9g o) of | 9 98 fage oiR fog gerem 9 o ¢ )
Al IE1 bl AU T[E FAET =ed 9 | THFE TS H -5 3 S & | T {57 FHelk 9rd: Fid 9 98e
21 Ere ot Hifedl W SRt @2 T

% i Wit o fore e = = fman ?
(1) SR T9EA i
(2) Teri % 9 T

(3) T Ee = Hifedl I SR @ T
(4) T fEFAR &S MU

Options:-

=1, Option ID :- 77,

=« 2, Option ID :- 78,

=« 3, Option ID :- 79,

= 4, Option ID :- 80,
Answer Given:- 3, Option ID : -79

Question ID:- 21

Trfafaa H famaras d@u 9= 768 ¢ ?
(1) o

(2) T

(3) i

(4) UFHf
Options:-

«1, Option ID :- 81,
= 2, Option ID :- 82,
=« 3, Option ID :- 83,

= 4, Option ID :- 84,
Answer Given:- 3, Option ID : -83

Question ID:- 22




fr=fafad gaami ° A1 swETd § 2

1 # - frsEEs

2) W& - TIvEEEEs

3) M - YTEEH

4) FB8 -  SfTvEEEE
Options:-

=1, Option ID :- 85,
=« 2, Option ID :- 86,
=« 3, Option ID :- 87,

= 4, Option ID :- 88,
Answer Given:- 2, Option ID : -86

Question ID:- 23

Fefefad § omeres fagmm 7@ & 2
(1) 97
(2) Hem
(3) @
(4) &
Options:-

«1, Option ID :- 89,
= 2, Option ID :- 90,
= 3, Option ID :- 91,

= 4, Option ID :- 92,
Answer Given:- 4, Option ID : -92

Question ID:- 24

Frfafad e i #§ qog-aeyd &1 39T T T
(1) +E-FS

(2) SIS - @

(3) S - FB

(4) & - f8A

Options:-

«1, Option ID :- 93,
= 2, Option ID :- 94,
« 3, Option ID :- 95,




= 4, Option ID :- 96,
Answer Given:- 1, Option ID : -93

Question ID:- 25

‘T’ wieg w1 yETHaErEl v el 8 ?

(1) ¥
(2) oW
(3) ;W
(4) frR
Options:-

«1, Option ID :- 97,
= 2, Option ID :- 98,
=« 3, Option ID :- 99,

=« 4, Option ID :- 100,
Answer Given:- 3, Option ID : -99

Question ID:- 26
* 7O o] Hren T geree w1 fefafed § 9 w2 o9 €

(1) o791 & 1 R

(2) e fag FE
(3) YA AT HASAT

(4) Tt 3R =t &rd A g

Options:-

«1, Option ID :- 101,
= 2, Option ID :- 102,
=« 3, Option ID :- 103,

= 4, Option ID :- 104,
Answer Given:- 2, Option ID : -102

Question ID:- 27

frfafea o uef v 7 -
(1) Hm

(2) fafy

(3) HA

(4) @

Options:-




=1, Option ID :- 105,
= 2, Option ID :- 106,
=« 3, Option ID :- 107,

= 4, Option ID :- 108,
Answer Given:- 1, Option ID : -105

Question ID:- 28

T+ I B R

(1) ST

(2) SREEA

(3) =M

(4) SHIET
Options:-

«1, Option ID :- 109,
=« 2, Option ID :- 110,
=« 3, Option ID :- 111,

=« 4, Option ID :- 112,
Answer Given:- 1, Option ID : -109

Question ID:- 29

TEIEY IO 1 IS T
(1) rerrmE

(2) HATIA

(3) feram

(4) TEIER

Options:-

«1, Option ID :- 113,
= 2, Option ID :- 114,
« 3, Option ID :- 115,

= 4, Option ID :- 116,
Answer Given:- 4, Option ID : -116

Question ID:- 30




oot & a1 ofic @ qo v § :

(1) fre=

(2) Hig-weE

(3) HsH

(4) wf=]
Options:-

=1, Option ID :- 117,
=« 2, Option ID :- 118,
=« 3, Option ID :- 119,

= 4, Option ID :- 120,
Answer Given:- 4, Option ID : -120

Subject : PE_Q31-Q60_PRINSH1
Question ID:- 31

Which one of the following Central Government body is responsible for research in school
education ?

(1) CBSE
(2) CABE
(3) CSO
(4) NCERT

el e § SgHyF 8 1 9 | B | U S geH fEEr §2

(1) HiEheEs,

(2) HiusE

(3) HrwE.a

(4) TAHLE AR
Options:-

«1, Option ID :- 121,
= 2, Option ID :- 122,
= 3, Option ID :- 123,

= 4, Option ID :- 124,
Answer Given:- 4, Option ID : -124

Question ID:- 32

Which one of the following Commission gave the idea of ‘multipurpose schools” ?
(1) Kothari Commission

I

Sadler Commission

4

(2)
(3) Mudaliar Commission
(4) Radhakrishnan Commission




7 | 9 form s = argsenita wpell” 1 fomm fean?

(1) =ISH A&

(2) HEE EN

(3) HETEER AN

(4) THFDE SRR
Options:-

«1, Option ID :- 125,
= 2, Option ID :- 126,
= 3, Option ID :- 127,

= 4, Option ID :- 128,
Answer Given:- 1, Option ID : -125

Question ID:- 33

What is the main aim of school education ?

(1) Emotional Development of Child

(2) Moral Development of Child

(3) All Round Development of Child

(4) Inculcating Spirit of patriotism in the Child

(R ]

Thedl foren =1 g SR A § 2

(1) e &1 Ve faehd
(2) @k 1 Afae Tk

(3) eIk =1 HarTo ek

(4) dTeieh H UEYH Shi {1EA1 ST

Options:-

=1, Option ID :- 129,
=« 2, Option ID :- 130,
« 3, Option ID :- 131,

= 4, Option ID :- 132,
Answer Given:- 3, Option ID : -131

Question ID:- 34

Which one of the following is not a concern of the school ?
(1) Food habits of children

2

(2) Learning patterns of children
(3) Family background of children
(4) Genetic make up of a brilliant child




=1 1§ forg U 4 T 1 $9 oA o TE § 2
(1) e %I @M &I e

(2) @ F ATy T

(3) @er I uiiariis g=eyfy

(4) UF GfGHM aTeR HI AR T

Options:-
«1, Option ID :- 133,

2

= 2, Option ID :- 134,
=« 3, Option ID :- 135,

=« 4, Option ID :- 136,
Answer Given:- 4, Option ID : -136

Question ID:- 35

Which one of the following raised the issue of ‘school bag load” ?
(1) Acharya Ram Murti Committee
2

(2) Yashpal Committee
(3) Janardan Reddy Committee
(4) R.C. Patel Committee

‘Tt w1 R = gE) Fefate § e 3emn?

(1) smarE T Hfd Fae

(2) AU FHHI

(3) SRS I wHE

(4) SR Hl. 9 HH
Options:-

=1, Option ID :- 137,
=« 2, Option ID :- 138,
=« 3, Option ID :- 139,

= 4, Option ID :- 140,
Answer Given:- 2, Option ID : -138

Question ID:- 36

According to NEP-2020, the preparatory class prior to the age of 5 years is known as :
(1) Bal Vatikas

(2) NPRCs

(3) Ashramshalas

(4) ECCE




e foren Sfifd-2020, % SATER 9T I FT Y F U8 BT IR FR H FE S

(1) Sereteeht
(2) AU
(3) ST
(4) THLHE
Options:-

«1, Option ID :- 141,
= 2, Option ID :- 142,
=« 3, Option ID :- 143,

= 4, Option ID :- 144,
Answer Given:- 1, Option ID : -141

Question ID:- 37

Some Boarding schools in Tribal areas are also known as :
(1) Bal Vatikas

(2) Jan Jati Schools

(3) Banvasi Schools
(4)

I~

4 Ashram Shalas

TS &0 o e STar famerdl F w8 S ¢ -

(1) el =feent

(2) F SIfd wHa

(3) ATl T

(4) STHH A
Options:-

=1, Option ID :- 145,
=« 2, Option ID :- 146,
=« 3, Option ID :- 147,

= 4, Option ID :- 148,
Answer Given:- 4, Option ID : -148

Question ID:- 38

Which one of the following States is not covered under RTE-Act-2009 ?
(1) Arunachal Pradesh

2

(2) Jammu and Kashmir
(3) Nagaland
(4)

4) Manipur




FARAE. TH 2009 F FHarid e § W -5 Uk 9 Aresiied T8l & 2
(1) STEUTEE o9l

(2) ST AR FER
(3) ATTAE

(4) #OR
Options:-

«1, Option ID :- 149,
= 2, Option ID :- 150,
= 3, Option ID :- 151,

= 4, Option ID :- 152,
Answer Given:- 2, Option ID : -150

Question ID:- 39

According to NEP-2020, regions of country with large population from educationally disadvantaged
sections will be known as :

(1) Aspirational groups

(2) Disadvantaged groups
(3) Special groups
(4) Special Education zones

TAET.-2020 F ATIR 9 % 3 4 el Vierk €9 F dfedi i 92 9@ €, 5% 7 Fel S 2

(1) Iwial T8

(2) ifed 998

(3) ferrw we

() e forem &=
Options:-

«1, Option ID :- 153,
=« 2, Option ID :- 154,
=« 3, Option ID :- 155,

= 4, Option ID :- 156,
Answer Given:- 4, Option ID : -156

Question ID:- 40

According to NEP-2020, an inclusion fund is to be created for
addressing needs of rural students.

1)
2) giving special attention to slum based learners.
) addressing analogous access issues for socio - economic disadvantaged groups.
)

addressing needs of transgender students.




TA.E.91.-2020 & STTHR FHE90 i foreer foe fHfHa feren smom ?
(1)  TTHo BB w1 SELd 90 T o

(2) 7St =t H @A ol BE W fav e e 7

(3) w31 &9 § df9a Tqgl 8 F9Edl 9" 99 &g
(4) Ul (ZiEseT) SEl & AEvEEhars w1 gfd &

Options:-

«1, Option ID :- 157,
= 2, Option ID :- 158,
=« 3, Option ID :- 159,

=« 4, Option ID :- 160,
Answer Given:- 3, Option ID : -159

Question ID:- 41

In our school curriculum, the teacher gives least emphasis on :
)  Physical development of child

(2) Socio-cultural development of child

(3) Psycho-emotional development of child

(4) Cognitive development of child

AN Tl TeaEdl § e fhy T 9 ° SR Sd € 2

(1) =ere & I fams ®

(2) weTe & HHTtSie Wik o

(3) @IeTeh s HAIEAH foehd IX

(4) EIAF ok FEACHSE T T
Options:-

=1, Option ID :- 161,
= 2, Option ID :- 162,
=« 3, Option ID :- 163,

= 4, Option ID :- 164,
Answer Given:- 3, Option ID : -163

Question ID:- 42

[

TH.E.1. 2020 ¥ TS TFA H 3{ATE B ok [HH ST i FHEA Hl 2
(1) 1:40% ==
1:309 =
1:32
1

(2)
(3)
4 1:25

Options:-




=1, Option ID :- 165,
= 2, Option ID :- 166,
=« 3, Option ID :- 167,

= 4, Option ID :- 168,
Answer Given:- 2, Option ID : -166

Question ID:- 43

According to NEP-2020, the idea of literacy and numeracy includes

(1) Reading and Arithmetic

(2) Writing, Speaking and Arithmetic

(3) Reading, Writing, Speaking and Arithmetic
(4) Reading, Writing and Arithmetic

TAE . 2020 % SHTHR WL U8 H&ATH & fgar H 1 wiHe § 2
(1) 9&T Te 3TRTfurd

(2) Toren, die T SR

(3) e, fora, sier Te S

(4) e, T, ge s
Options:-

«1, Option ID :- 169,
= 2, Option ID :- 170,
=« 3, Option ID :- 171,

= 4, Option ID :- 172,
Answer Given:- 3, Option ID : -171

Question ID:- 44

The concept of neonate implies to :
(1) A child born prior to 36 weeks in womb

I

(2) An abnormal baby
(3) A newborn baby
(4)

4 A genetically disformed baby

Tasma (Frime) & aerd § -

(1) 7o H 36 HerE ¥ wEet Ye1 Ao
(2) T EEN FAH

(3) e T Ye1 AT

(4) FTETTE w9 9 fagd arers

2

Options:-
«1, Option ID :- 173,
= 2, Option ID :- 174,




= 3, Option ID :- 175,

= 4, Option ID :- 176,
Answer Given:- 3, Option ID : -175

Question ID:- 45

The goal set by NEP-2020 for attaining universal literacy and numeracy for primary school learners
is by

(1) 2024
(2) 2025
(3) 2030
(4) 2035

Tifies T & AfHsdisi] 8 TH.8.91.-2020 §H1 SHTEEIE HERAl Ud H&ATHw H1 ded |l =11 € 7

(1) 2024
(2) 2025
(3) 2030
(4) 2035
Options:-

«1, Option ID :- 177,
« 2, Option ID :- 178,
=« 3, Option ID :- 179,

= 4, Option ID :- 180,
Answer Given:- 2, Option ID : -178

Question ID:- 46

Which one of the following combinations represent the role of school education ?

(=T

Preserver of the past

(

(i) Analyser of the present

(iii) Creator of future

(iv) Developing warriors

(v) Development of balanced personality
(1) (i), (iii), (iv) and (v)

(2) (i), (iii) and (v)

(3) (i), (iii), (iv) and (v)

(4) (i), (ii), (iti) and (v)




e 8§ | W w1 waer e e st gfies sofa & 2

(i) eI =1 HIET]

(i) =dHM =1 favere

(iii) wfee = Fmm

(iv) gl &1 fase

(v) Hdferd sAfeTe = o

(1) (i), (iii), (iv) 3T (v)

(2) (i), (i) 3 (v)

(3) (i), (i), (iv) 3T (v)

(4) (i), (i), (iii) 3R (v)
Options:-

«1, Option ID :- 181,
= 2, Option ID :- 182,
= 3, Option ID :- 183,

= 4, Option ID :- 184,
Answer Given:- 4, Option ID : -184

Question ID:- 47

The idea of holistic learning implies

(1) teaching about black hole.

(2) many teachers teach about all aspects of a topic.
(3) teaching for all-round development of the child.
(4)

4 training teachers for integrated teaching,

HquiaTal SAfeT o fammR | o e § 7

(1) =T & & ar H g

(2) e YideR & | ST ] o feTehl B Uern S
(3) STeTh o FENTOl et & TR

(4) ki Tl &g frereni =1 gfter

Options:-

=1, Option ID :- 185,
= 2, Option ID :- 186,
=« 3, Option ID :- 187,

= 4, Option ID :- 188,
Answer Given:- 3, Option ID : -187

Question ID:- 48




The major task of a Vice-principal is
(1) to follow the instructions of the principal.

2) to develop a comprehensive plan for the school

(2)
(3) to assist all teachers in carrying out their duties.
(4)

4)  to implement the agenda set by the staff meeting and the principal.

U 39 FYEEE w wE g .

(1) gy % 89 =1 9 |

(2) TFA I TF AT A S

(3) @t fraehl &1 Ik FHaea Fafed § Hera S

(4) T Hifen ud guE=EE gr FEd TS sl ] S |

Options:-

«1, Option ID :- 189,
= 2, Option ID :- 190,
= 3, Option ID :- 191,

= 4, Option ID :- 192,
Answer Given:- 3, Option ID : -191

Question ID:- 49

Choose the most acceptable statement from the following options, for developing an ideal school.
(1) Principal is custodian of the school.

(2) Principal is the role model of the school.

(3) Principal is friend, philosopher and guide for the teachers.
(4)

4)  Principal is ultimate boss of the school.

U ey e faw &g fr fasredl | @ waifaes wew gy e o fase & 2
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(3) =R iR i fHE, IEifs Ud 9AmER B
(4) WU Sht o Idee Sfem ¥

Options:-

=1, Option ID :- 193,
=« 2, Option ID :- 194,
« 3, Option ID :- 195,

= 4, Option ID :- 196,
Answer Given:- 3, Option ID : -195

Question ID:- 50




Which one of the following options will best help a principal to be a good educational leader ?
(1) A degree in educational administration

I3

(2) An in-service workshop on philosophy of education
(3) A Ph.D. degree in education
(4)

4)  Experience of teaching slow learners

7= 4 9 3 W s faswey e qumrE # UE sr=st Sifere A9 gEedl o | Haifue Herdd § 7
(1) EFell 99mEE =1 e et

(2) Toem = =9 T TF Yerhed e

(3) Tem wes § U °i waL gl i feut

(4) 1 AftrTHshaist sl YgH sk S
Options:-

«1, Option ID :- 197,
= 2, Option ID :- 198,
= 3, Option ID :- 199,

= 4, Option ID :- 200,
Answer Given:- 4, Option ID : -200

Question ID:- 51

The concept of curriculum includes
(1) all desirable and planned experiences

I~

all undesirable and unplanned experiences

(2)
(3) all desirable, planned and known experiences
(4)

all experiences - desirable, undesirable, known, unknown, planned and unplanned

e

Options:-

«1, Option ID :- 201,
= 2, Option ID :- 202,
= 3, Option ID :- 203,

= 4, Option ID :- 204,
Answer Given:- 4, Option ID : -204

Question ID:- 52

=4

[P

Options:-

=1, Option ID :- 205,
=« 2, Option ID :- 206,
=« 3, Option ID :- 207,




= 4, Option ID :- 208,
Answer Given:- 1, Option ID : -205

Question ID:- 53

A school principal and all his colleagues have developed a very efficient and successful method of
teaching - learning. This model is known as :

(1) Administrative Model

(2) Demonstration Model
(3) Grassroot model
(4) Taylor's Model

Tk hel & GUFEAs e gl foeenl 5 e sifam o1 v wfd gureened! SR 9w gfaare fasfaa
o &1 58 e -
(1) 9w gidHE

(2) 9a¥H HfdHHA

(3) HuEerd gfqam

(4) 2o =1 wfaae
Options:-

«1, Option ID :- 209,
= 2, Option ID :- 210,
« 3, Option ID :- 211,

= 4, Option ID :- 212,
Answer Given:- 4, Option ID : -212

Question ID:- 54

One basic principle of school curriculum is :

(1) Maximum possible learners should get success in life.
(2) School should have a positive impact on each and every child.
(3) Each school should develop into a model school.
(4)

4 Each school should ensure and enrol all eligible learners from adjoim'ng localities.

Shell WreAEEl Tl T govd fHg= 11 & ?
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Options:-

«1, Option ID :- 213,
« 2, Option ID :- 214,
=« 3, Option ID :- 215,




= 4, Option ID :- 216,
Answer Given:- 1, Option ID : -213

Question ID:- 55

Which one of the following methods of evaluation will help most, in ensuring good performance of
students in Maths at primary school stage ?

(1) Essay type questions

(2) Multiple choice questions
(3) Oral and practical examination
(4) Summative evaluation

rafer Tl & TR BE o F g8 freaes gihfead e g e E 9 wE @ g fafa wed
siferes werash Bl ?

(1) TR 999

(2) g foseq art 9eA
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Options:-

«1, Option ID :- 217,
= 2, Option ID :- 218,
« 3, Option ID :- 219,

= 4, Option ID :- 220,
Answer Given:- 3, Option ID : -219

Question ID:- 56

[P

[P

Options:-

«1, Option ID :- 221,
= 2, Option ID :- 222,
= 3, Option ID :- 223,

= 4, Option ID :- 224,
Answer Given:- 3, Option ID : -223

Question ID:- 57

NEP-2020 has set the year 2025 as an aim for achieving which one of the following ?
(1) Universal and Foundational numeracy at primary school stage

I3

(2) Cent percent literacy
(3) Zero percent wastage and stagnation
(4)

4) Hundred percent adult literacy




t,

[
Options:-

=1, Option ID :- 225,
= 2, Option ID :- 226,
« 3, Option ID :- 227,

= 4, Option ID :- 228,
Answer Given:- 1, Option ID : -225

Question ID:- 58

Under RTE Act 2009, which provisions are not given to all children with disabilities ?
(1) Affidavit at the time of admission

I

(2) More meetings with parents of children
(3) No screening procedures besides free education
(4)

4)  One special education teacher for each school

HARZLE. TH 2009 T80 HALHAH dcTehi &g I H WEHH &l 3T S & 2
(1) 99 &% H97 999 9

(2) dreishl & AR & WY AR sifuE Seh
(3) Troees foen % wne =g St whshan 7

(4) U Thol § U faury foan st
Options:-

«1, Option ID :- 229,
= 2, Option ID :- 230,
= 3, Option ID :- 231,

= 4, Option ID :- 232,
Answer Given:- 1, Option ID : -229

Question ID:- 59

e

t,

[
Options:-

=1, Option ID :- 233,
« 2, Option ID :- 234,
= 3, Option ID :- 235,

= 4, Option ID :- 236,
Answer Given:- 4, Option ID : -236

Question ID:- 60

" A

T,

L

Options:-




=1, Option ID :- 237,
=« 2, Option ID :- 238,
=« 3, Option ID :- 239,

= 4, Option ID :- 240,
Answer Given:- 4, Option ID : -240

Subject : UL_Q61-Q75_PRINSH1

Question ID:- 61

L

Options:-

=1, Option ID :- 241,
= 2, Option ID :- 242,
=« 3, Option ID :- 243,

= 4, Option ID :- 244,
Answer Given:- 2, Option ID : -242

Question ID:- 62

L

Options:-

«1, Option ID :- 245,
= 2, Option ID :- 246,
= 3, Option ID :- 247,

= 4, Option ID :- 248,
Answer Given:- 2, Option ID : -246

Question ID:- 63

What is the role of ‘Home’ in Education ?

(1) Review of school activities and offer constructive suggestions to school

%)

(2) Organising community Programmes
(3) Extending Financial support to school
(4)

4 GLLidirlg teachers and students

Options:-

«1, Option ID :- 249,
« 2, Option ID :- 250,
=« 3, Option ID :- 251,

= 4, Option ID :- 252,
Answer Given:- 1, Option ID : -249




Question ID:- 64

What do you mean by ‘Developmental task’ in child’s growth ?
(1) The tasks performed during childhood.

I

(2) Acquiring skills (milestone) at appropriate stage of childhood.
(3) The activities performed by child during growth.
(4)

Acquiring skills at the age of 12 years.

Options:-

=1, Option ID :- 253,
=« 2, Option ID :- 254,
= 3, Option ID :- 255,

= 4, Option ID :- 256,
Answer Given:- 2, Option ID : -254

Question ID:- 65

" A

Options:-

«1, Option ID :- 257,
= 2, Option ID :- 258,
= 3, Option ID :- 259,

= 4, Option ID :- 260,
Answer Given:- 1, Option ID : -257

Question ID:- 66

L

Options:-

«1, Option ID :- 261,
= 2, Option ID :- 262,
=« 3, Option ID :- 263,

= 4, Option ID :- 264,
Answer Given:- 4, Option ID : -264

Question ID:- 67

" A

Options:-
«1, Option ID :- 265,
=« 2, Option ID :- 266,




= 3, Option ID :- 267,

= 4, Option ID :- 268,
Answer Given:- 3, Option ID : -267

Question ID:- 68

T,

L

T,
L

Options:-

=1, Option ID :- 269,
= 2, Option ID :- 270,
=« 3, Option ID :- 271,

= 4, Option ID :- 272,
Answer Given:- 4, Option ID : -272

Question ID:- 69

"]

T,
L

Options:-

«1, Option ID :- 273,
= 2, Option ID :- 274,
= 3, Option ID :- 275,

= 4, Option ID :- 276,
Answer Given:- 1, Option ID : -273

Question ID:- 70

L

T

Options:-

«1, Option ID :- 277,
= 2, Option ID :- 278,
=« 3, Option ID :- 279,

= 4, Option ID :- 280,
Answer Given:- 2, Option ID : -278

Question ID:- 71

What is the purpose of ‘Manodarpan programme’ recently launched by Ministry of Education,
Govt. of India ?

(1) To promote scientific centers

[ge]

To promote Value Education

2

)
) To provide Psychological support to the students for sound mental health.
)

(
(
(4

To promote Sports Education
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(3) oT= AFfHe Weed & T ol 1 HEwiTe Fgra S

(4) WA-FHe gaut foren o1 sgEn

2

Options:-

«1, Option ID :- 281,
= 2, Option ID :- 282,
« 3, Option ID :- 283,

= 4, Option ID :- 284,
Answer Given:- 3, Option ID : -283

Question ID:- 72

L

Options:-

=1, Option ID :- 285,
« 2, Option ID :- 286,
=« 3, Option ID :- 287,

= 4, Option ID :- 288,
Answer Given:- 2, Option ID : -286

Question ID:- 73

L

Options:-

«1, Option ID :- 289,
= 2, Option ID :- 290,
= 3, Option ID :- 291,

= 4, Option ID :- 292,
Answer Given:- 1, Option ID : -289

Question ID:- 74

L

Options:-

=1, Option ID :- 293,
=« 2, Option ID :- 294,
= 3, Option ID :- 295,




= 4, Option ID :- 296,
Answer Given:- 2, Option ID : -294

Question ID:- 75

"~

Options:-

«1, Option ID :- 297,
= 2, Option ID :- 298,
= 3, Option ID :- 299,

= 4, Option ID :- 300,
Answer Given:- 1, Option ID : -297

Subject : UTL_Q76-Q105_PRINSH1

Question ID:- 76

L

Options:-

«1, Option ID :- 301,
= 2, Option ID :- 302,
= 3, Option ID :- 303,

= 4, Option ID :- 304,
Answer Given:- 2, Option ID : -302

Question ID:- 77

" A

Options:-

=1, Option ID :- 305,
= 2, Option ID :- 306,
=« 3, Option ID :- 307,

= 4, Option ID :- 308,
Answer Given:- 1, Option ID : -305

Question ID:- 78

Which one of the following statmentnts is not true about Pedagogy ?
(1) Pedagogy encourages self learning.

(2) Pedagogy ignores individual differences.
(3) Pedagogy leads to innovations.
(4)

4) Pedagogy prepares learners for life situations.
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(3) oo % TeEE T FERIY S Bl B

(4) Towmeme ® sifurmerdieti @1 Siem &1 ofitffai 3 fore am e &

I
2
4

Options:-

=1, Option ID :- 309,
« 2, Option ID :- 310,
« 3, Option ID :- 311,

= 4, Option ID :- 312,
Answer Given:- 2, Option ID : -310

Question ID:- 79

Which one of the following statements is not true for curriculum ?

(1) Curriculum is a complete set and very broad in nature.

(2) Curriculum is framed by organisations like NCERT, CBSE, SCERT etc.
(3) Curriculum describes what to teach and how to teach.
(4)

4) Curriculum focuses on managing intended outcomes in an educational set up.

freifera & & =i &1 e vzt % fag wdt & 22

(1) 9= & @Ey g ag=aa X i =y g 21

(2) ureH=E & i ug @ § e S, i it ww §, vy Ot € R 2 enfe St geenedl gry R S #
(3)

(4)

3) uRaHdl H oo gl ® T foasan foraor forw weR fopan st €1

4y urgEEEt § Rt Sterfors srewen § s aftong o yeee W e Fiea e s 7

Options:-

«1, Option ID :- 313,
= 2, Option ID :- 314,
=« 3, Option ID :- 315,

=« 4, Option ID :- 316,
Answer Given:- 3, Option ID : -315

Question ID:- 80

=4

s

Options:-

=1, Option ID :- 317,
« 2, Option ID :- 318,




= 3, Option ID :- 319,

= 4, Option ID :- 320,
Answer Given:- 3, Option ID : -319

Question ID:- 81

One of the disadvantages of school time table is that.

(1) It provides a balanced distribution of time among subjects, teachers and students.
2

(
(3
(4

) It restricts flexibility.
) It promotes discipline in many ways.
)

It promotes interest and motivation.

Torgame™ w1 w9g 9RoT &1 U gif 78 §
(1) 359 faui, seamuent @i faganfidi & w1 5o &1 Sgfea s forn s 81
2) =aH g gidefid g g

s

(2)
(3) T werawy fafu= w9 § sreres = sgEn fgerd 21
(4)
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Options:-

«1, Option ID :- 321,
= 2, Option ID :- 322,
=« 3, Option ID :- 323,

= 4, Option ID :- 324,
Answer Given:- 2, Option ID : -322

Question ID:- 82

Which statement is true for deductive method of teaching ?

(1) It starts with examples and ends in formulae/ rule/concept.

(2
(3
(4

) It encourages actual observation.
) Itisapplicable for solving problems.
)

It is suitable for lower classes.

ST 1 fTerss fafy & 9 § 9 o1 5y w2
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(4) I 1= Hl e & oy UK Bl 2

Options:-

«1, Option ID :- 325,




= 2, Option ID :- 326,
= 3, Option ID :- 327,

= 4, Option ID :- 328,
Answer Given:- 1, Option ID : -325

Question ID:- 83

T,

L

T

[
Options:-

=1, Option ID :- 329,
= 2, Option ID :- 330,
=« 3, Option ID :- 331,

= 4, Option ID :- 332,
Answer Given:- 1, Option ID : -329

Question ID:- 84

The following characteristics relate to which stage under Piaget’s stages of cognitive development?

Ability to conserve, Logic of class and relations, understanding of numbers, development of
reversibility in thought .

(1) sensory-motor

(2) pre-operational
(3) concrete operation
(4)

4) formal operations

ot & gareass famra & fafv =xoil % eimia Feifeg fasaand fea =2 § Heifig &2
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Options:-

=1, Option ID :- 333,
« 2, Option ID :- 334,
=« 3, Option ID :- 335,

= 4, Option ID :- 336,
Answer Given:- 3, Option ID : -335

Question ID:- 85




All the time Divya was preparing for an assessment event and at the same time she was assessing
herself and her materials-their adequacy, relevance and meaningfulness so far as learning outcomes
were concerned.

Which kind of assessment she was preparing for ?

(1) Assessment as learning

(2) Assessment of learning
(3) Assessment for learning
(4) Assessment for social recognition

ez ufaeron fordl geaiena & & fae Toml 2 @ of o) s9% Wy-a1g 9% =9 &1 off i L @ o
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(1) siferTd o &9 H gedisd
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(3) afeme o fAfae geaiea

(4) TS 7=l % fau geisa
Options:-

«1, Option ID :- 337,
« 2, Option ID :- 338,
« 3, Option ID :- 339,

= 4, Option ID :- 340,
Answer Given:- 1, Option ID : -337

Question ID:- 86

What is not the strength of a portfolio ?
(1) It creates opportunity to collaborate and reflect on students’ progress.

2) It helps students to be responsibility free.

(2)
(3) It creates opportunity for parents to assess performance of their children.
(4)

It helps develop skills for evaluating own strengths and weakneses.
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Options:-

=1, Option ID :- 341,
=« 2, Option ID :- 342,
=« 3, Option ID :- 343,
= 4, Option ID :- 344,

Answer Given:- 2, Option ID : -342
Question ID:- 87

Options:-

=1, Option ID :- 345,

= 2, Option ID :- 346,

« 3, Option ID :- 347,

= 4, Option ID :- 348,

Answer Given:- 4, Option ID : -348
Question ID:- 88

Options:-

=1, Option ID :- 349,

« 2, Option ID :- 350,

=« 3, Option ID :- 351,

= 4, Option ID :- 352,

Answer Given:- 3, Option ID : -351
Question ID:- 89

Options:-

«1, Option ID :- 353,

= 2, Option ID :- 354,

=« 3, Option ID :- 355,

= 4, Option ID :- 356,

Answer Given:- 3, Option ID : -355

Question ID:- 90




Which of the following cannot he considered as an advantage of integrated text book ?

(1) Text book may present idealized world news.

2) Text book may provide support to inexperienced teachers.

(2)
(3) Text book may provide readymade learning materials.
(4)

4) Text book may serve as a time regulator.
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Options:-
=1, Option ID :- 357,
« 2, Option ID :- 358,

= 3, Option ID :- 359,

= 4, Option ID :- 360,
Answer Given:- 4, Option ID : -360

Question ID:- 91

The main purpose of ‘Parent Teacher Association” (PTA) in any school is to

(1) collect additional funds for Remedial teaching.

(2) involve parents for improvement of school functioning.
(3) keep students in check/control.
(4) share understanding of the problems faced by the school.
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Options:-

«1, Option ID :- 361,
= 2, Option ID :- 362,
=« 3, Option ID :- 363,

= 4, Option ID :- 364,
Answer Given:- 2, Option ID : -362




Question ID:- 92

If a student alleges that there has been favoritism in calculation of scripts how would you deal
with her/him ?

(1) Since you believe that there cannot be favoritism in your school, you would reject her/his
allegations.

(2)  You will adopt punitive measure.
(3) Share the matter with parents.

(4)  You will show her/his answer book and a few more.
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Options:-

=1, Option ID :- 365,
= 2, Option ID :- 366,
= 3, Option ID :- 367,

= 4, Option ID :- 368,
Answer Given:- 4, Option ID : -368

Question ID:- 93

A child who belong to disadvantaged group is admitted to your school, what will you do ?
(1) Know more about the socio economic background of the child

2)  Advise her/him to take up vocational stream

(2)
(3) Keep her/him in a normal class and make special arrangements for teaching her/him
(4)

4)  Keep her/him in a class in which there are students of similar background
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(1) o9 39 dceh i groifsrs aTifefe gy & o) o o sifues STl o & |
(2) SE BHEV/BTH 1 AEHITEE {0 T80 FA Hl gerg 9 |

(3) W DEVSH ! Il H W T 39 7509 o fore fadm ey 3 |
(4) 30 UEH e H v fd 36 qeyfi % o= famed €

2

el

Options:-
«1, Option ID :- 369,




= 2, Option ID :- 370,
= 3, Option ID :- 371,

= 4, Option ID :- 372,
Answer Given:- 1, Option ID : -369

Question ID:- 94

In your opinion what would be the most effective method for correcting the undesirable behaviour
of a student ?

(1)
(2)

(3) Ignoring her/him
(

4) Attempt to find reasons for such an undesirable behaviour and try corrective measure

—

Inform her/his parents prior to taking any action/measure

Find a suitable punishment

3Rt gfte § forel famnell & swifod s9aer § QuR @F &1 Faifer gumet fafy = e 2

(1) =7e off FHHEE/39E HE 9 T Haiyd S3/E & Aa-ar =1 giad s

(2) Sfad gUE i SHEEAT AT

(3) IHH! JUH HA
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Options:-

«1, Option ID :- 373,
= 2, Option ID :- 374,
=« 3, Option ID :- 375,

=« 4, Option ID :- 376,
Answer Given:- 4, Option ID : -376

Question ID:- 95

A teacher must have mastery over her/his subject in order to :
(1)
(2) develop interest among students.
(3)
(4)

impress the students.

attract more private tuitions.

make teaching more effective.
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Options:-

=1, Option ID :- 377,
« 2, Option ID :- 378,
=« 3, Option ID :- 379,

= 4, Option ID :- 380,
Answer Given:- 4, Option ID : -380

Question ID:- 96

To make all students interested in homework, it should be :
(1) only from the book

(2) of equal level

(3) according to ability of the student
(4)

4 out of the book

faenfefi # earrd & ufa sAfvsfa o= @ & fog, 78 */

(1) T 9 & g =

(2) HHT ¥ R B A |

(3) Toenfef=i =t Jraan & oF®Y M1 =R |
(4) Y % FELE T =R

Options:-

«1, Option ID :- 381,
= 2, Option ID :- 382,
=« 3, Option ID :- 383,

= 4, Option ID :- 384,
Answer Given:- 3, Option ID : -383

Question ID:- 97

Which of the following would be the best way to inculcate value - cooperation among your
students?

(1) Playing a role model

(2) Organize a lecture on the topic
(3) Organize cultural programme
(4)

Organize a camp for one
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Options:-

=1, Option ID :- 385,
= 2, Option ID :- 386,
=« 3, Option ID :- 387,

= 4, Option ID :- 388,
Answer Given:- 4, Option ID : -388

Question ID:- 98

Developing ‘scientific attitude” among students can be best accomplished through :
(1) Teaching of sciences.

(2) accepting what science teachers tell
(3) accepting facts only affer examining and verifying.
(4) wvisiting scientific installations
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Options:-

=1, Option ID :- 389,
= 2, Option ID :- 390,
= 3, Option ID :- 391,

= 4, Option ID :- 392,
Answer Given:- 3, Option ID : -391

Question ID:- 99




A good "Head’ of an educational institution is one who :
(1) wunderstands what is good educational administration and applies its principles quite firmly.
2) allows freedom to staff and students and interferes the least in their affairs.

(
(3
(

) is flexible in her/his approach and works co-operatively and with a human touch.
4) is particularly careful about discipline and does not compromise with misbehavior or
misconduct.
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(2) HHEIET iR ferenfeii o T < 8 iR 37 /el § JAqq ST Hdl @ |
(3) 270 gfteerior § or=ien a1 € i e g 9 HeEnT <ot hE w2 |
(4) STOTEA I fa9i o 241 8 SiR geesR A1 FEER 9 FHI T8 w8

Options:-

«1, Option ID :- 393,
= 2, Option ID :- 394,
= 3, Option ID :- 395,

= 4, Option ID :- 396,
Answer Given:- 3, Option ID : -395

Question ID:- 100

According to NCF 2005, assessment in ECCE and classes I and II should be :
(1) through oral test
(2) purely qualitative
(3) through peers
(

4) cumulative record cards

T IEFEAl TR, 2005 % STER § °f © § 9o iR f5dta wan o qedieA
(1) wifEes s & qrerm 3 g =it

(2) Ui TRl S =R

(3) woenata fanfel & mem | € =nfew)

(4) HIAl RS e % Hieg| 9|

Options:-

«1, Option ID :- 397,

= 2, Option ID :- 398,

= 3, Option ID :- 399,

= 4, Option ID :- 400,
Answer Given:- 4, Option ID : -400




Question ID:- 101

Which of the following is not a characteristics of a unit plan ?

(1) The contents of a unit are always woven around a central principle, process, problem or
process

(2) A unitconsists of well integrated meaningful wholes capable of providing learning experience
for the desired objectives

(3) A unit provides complete process of summative assessment vis -a- vis various objectives.

(4) Itrepresents a whole and complete subdivision of content of a syllabus to provide meaningful
learning experiences

Frifera & 9 = gfe @ i fagoa 78 € 2
(1) g =t fowa oeg wea wi=a fagia, wiem, Ten a1 ufewan & 3 fg 2t €1

(2) IR H g-uHimd Tl g 2 € 5 gifed Seeva & fau afirm smye wem F T ama
B3 |

(3) gfe d fafu= sevEl | Hefta gaiehecas Godichd 1 o1 WieRan Suersy gl #

(4) % Hrefe A SvE <1 & fau foret easen #it faw ag o goi oin wdafas su-faufa =i
frefoa == 21

Options:-

«1, Option ID :- 401,
= 2, Option ID :- 402,
=« 3, Option ID :- 403,

= 4, Option ID :- 404,
Answer Given:- 3, Option ID : -403

Question ID:- 102

Which one of the following is not an advantage of 'Project Method" ?
(1) Meaningful learning

(2) Development of self-confidence

(3) External persuasion for attracting students
(4)

4) Preparation for future life

fr=ifera o 9 = wftErsEn fafi’ = ey 9861 § 2

(1) W A

(2) 37eA fagary <kt faerm

(3) ToenfEi =t seftfa &7 &g 9@ ST
(4) TS SfE AR

Options:-




=1, Option ID :- 405,
= 2, Option ID :- 406,
=« 3, Option ID :- 407,

= 4, Option ID :- 408,
Answer Given:- 3, Option ID : -407

Question ID:- 103

Which of the following is not a characteristic of ‘competency based approach’ ?
(1) Peer interaction and assistance

(2) Learning at own pace

(3) Practicing multiplication table chart
(4)

4 Goal directed learning

Freifera ® 9 =0 gar smnfia S’ ) faee 9 2

(1) s oF:fRa (i) AR Sered
(2) &9 B Il § i
(3) TUF ATfcAehl = o1 ST R
(4) @& fFefm stfem
Options:-

«1, Option ID :- 409,
= 2, Option ID :- 410,
= 3, Option ID :- 411,

= 4, Option ID :- 412,
Answer Given:- 3, Option ID : -411

Question ID:- 104

Wall space and buttetin boards in the class room are not meant for :
(1) High quality student work

(2) Blank space for students” working place

(8) Assignments/ projects done by all students
(4)

4 Persona]ly interesting materials for students & teachers

e H <ar w1 TH iR geifes a9 frifea 8 8 frmes o 78 82
(1) ferneff =1 3= orern qof

(2) TemnfeEr & ‘wrsw’ % fau e e

(3) it ferenfet grr gol fer e weeer/gul &8 T aRE

(4) famffd ol s w1 Sufrs sl o ammi v % fou
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)
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Options:-

«1, Option ID :- 413,
« 2, Option ID :- 414,
= 3, Option ID :- 415,

= 4, Option ID :- 416,
Answer Given:- 2, Option ID : -414

Question ID:- 105

Most of the students have achieved low score on a periodical test. Which type of test must be
administered to bring students at par through some action ?

(1) Prognostic test

(2) Diagnostic test
(3) Situational test
(4) Aptitude test

sferrier Tamnfefai = foredt wafies qdeo 5 9 316 gra gu 2 o1 U feafa | faenfeRii =01 sufam ww o
@M o foru feifera © 9 fova @ %1 g foman s =nfen ?

(1) gargwifas adierm
(2) e Tdem
(3) Tefasm= wdiem
(4) SRR qdE
Options:-

«1, Option ID :- 417,
= 2, Option ID :- 418,
=« 3, Option ID :- 419,

= 4, Option ID :- 420,
Answer Given:- 2, Option ID : -418

Subject : CCLE_Q106-Q120_PRINSH1

Question ID:- 106

What is "Megacephaly” with reference to mental health ?
(1) Small eyes
(2) Small head
(3) Large head
(4)

4) Enlarged eye balls




qHfas @reed & ded § ‘amfghet’ w1 @19 &
(1) B A"
(2) e (Brer far)
(3) ey (e )
(4) oS TAEA®
Options:-
«1, Option ID :- 421,
= 2, Option ID :- 422,

= 3, Option ID :- 423,

= 4, Option ID :- 424,
Answer Given:- 3, Option ID : -423

Question ID:- 107

Which one of the following may be early symptom of mental illness among children ?
(1) Passive learning

(2) Poor attendance

(3) Low achievement in academics

(4)

Attention deficit

F=afafad 9§ 9 =0 91 9] 3 9l Sl 1 SARAE d80 8 TRl § 2

(1) TAfera stfamm

(2) @ IufEafd

(3) Toren | % Suerfey

(4) =AF H A
Options:-

=1, Option ID :- 425,
=« 2, Option ID :- 426,
=« 3, Option ID :- 427,

= 4, Option ID :- 428,
Answer Given:- 4, Option ID : -428

Question ID:- 108




Which one of the following is the essential principle of counselling in schools ?
(1) Acceptance

(2) Co-operation

(3) Data collection

(4) Empirical evidence

Fafafaa § 9 oA 9 faenea § syl 24 &1 v s1fHad fagra &2

(1) &L
(2) FEEm
(3) SR HYE

(4) SIS HIEA

Options:-

=1, Option ID :- 429,
« 2, Option ID :- 430,
= 3, Option ID :- 431,

= 4, Option ID :- 432,
Answer Given:- 1, Option ID : -429

Question ID:- 109

What is the role of schools in supporting ‘Divyangjan’ students ?

Apathy

)
2) Providing equal opportunities without any discrimination
)  Empathy

)

Sympathy

“Teegirs’ BEI 1 Werdl w1 | faermerdl 1 i © ?

(1) -3

(2) T foredt e & T9M STEHR WM AT
(3) T

(4) weEYfd

Options:-

«1, Option ID :- 433,
=« 2, Option ID :- 434,




= 3, Option ID :- 435,

= 4, Option ID :- 436,
Answer Given:- 2, Option ID : -434

Question ID:- 110

What do you mean by ‘mental health” ?

(1) Social well being

(2) Mental well being

(3) Cognitive, behavioural and emotional well being
(4) Physical well being

‘grfEes e & oty § 2

(1)  HHIS T

(2) HFATHER TEEd
(3) HAATH, ARG SR HIEAIHE T
(4) ORI

Options:-

«1, Option ID :- 437,
= 2, Option ID :- 438,
« 3, Option ID :- 439,

= 4, Option ID :- 440,
Answer Given:- 3, Option ID : -439

Question ID:- 111

Which one of the following could be more effective to tackle ‘mental illness” among children in
schools ?

1) Radiotherapy

(1)

(2) Chemotherapy

(3) Behavioural therapy
(4)

4) Cognitive-Behavioural therapy




foremerdi # arewni # ‘ Arfae srEwe’ | frued % fou fefafeas § § @0 @ sifus gt € g &2
(1) Yfe=ed

(2)  erHIE

(3) HERRTA S

(4) HAATHRH-ATETT Al

Options:-

=1, Option ID :- 441,
=« 2, Option ID :- 442,
= 3, Option ID :- 443,

= 4, Option ID :- 444,
Answer Given:- 4, Option ID : -444

Question ID:- 112

How would you ensure positive home-school relation in society ?

1)  Official monitoring by parents

3

(1)

(2) Children should take part in social activities

(3) Regular participation of parents in school programmes
(4)

4) By creating awareness of parents on school programes

T TS H HehrIers 21-faenerd gey w9 giafvea &1 2

(1) wrar-faar gro suferepifies fmEt & g

(2) TR R HHEIS fHAERETd | 97T € &% gRI

(3) Tomnerh wriwa § ama-fira 1 Fafag wwierd % g

(4) Torermerdt sedwEd & an # wmar-foa § Sweswar 991 i % g

Options:-

=1, Option ID :- 445,
« 2, Option ID :- 446,
=« 3, Option ID :- 447,

= 4, Option ID :- 448,
Answer Given:- 3, Option ID : -447

Question ID:- 113




The ‘community learning” would act as :

(1) Supplementary learning

(2) Non-formal learning

(3) Formal learning

(4) Substitute learning for school

‘et sifum’ fore w9 H @ w27
(1) Y& i &

(2) s sferry &

(3) S st

(4) Temmem™ & w9 sifa

Options:-

«1, Option ID :- 449,
= 2, Option ID :- 450,
=« 3, Option ID :- 451,

= 4, Option ID :- 452,
Answer Given:- 2, Option ID : -450

Question ID:- 114

‘Cerebral Palsy’ a type of disability comes under :
(1) Auditory disability

(2) Physical disability

(3) Social disability

(4) Mental disability

‘gfeTss =’ U WER i vkl €, fREeh et o € 2
(1) o1 Haie .9 &

(2) wrifer e %

(3) TSR o9 %

(4) HETEF MR &

Options:-

«1, Option ID :- 453,
= 2, Option ID :- 454,
= 3, Option ID :- 455,




= 4, Option ID :- 456,
Answer Given:- 2, Option ID : -454

Question ID:- 115
‘Poor Handwriting * could be attributed to :

1) Dyspraxia

(1)
(2) Dyscalculia
(3) Dysgraphia
(4)

4 Dyslexia

‘T g fEgs R et g 2

(1) Teaufen

(2) Femsergfern

(3) Teaufra

(4) ATEA-dHE
Options:-

«1, Option ID :- 457,
= 2, Option ID :- 458,
=« 3, Option ID :- 459,

= 4, Option ID :- 460,
Answer Given:- 3, Option ID : -459

Question ID:- 116

What is the major challenge in school management to address mental health issues ?

1

[ Lack of professional experts in schools
2

)
)  Undermotivated parents

3 Lack of awareness

(
(
(3)
(4)

4)  Lack of funds in schools

qAEE e el gEi & Ty o o fammer g § ge ghrdl g2
(1) TorrmeEi § T¥ER faves! &1 &

(2) wr-faen = w9 SAfEiE @

(3) SRSkl &l Al

(4) oo™l 4 g=afe sl e

Options:-




=1, Option ID :- 461,
« 2, Option ID :- 462,
= 3, Option ID :- 463,

= 4, Option ID :- 464,
Answer Given:- 3, Option ID : -463

Question ID:- 117

What is the programme launched recently by Ministry of Education, Govt. of India, to address
mental health issues in school children ?

(1) Atma Nirbhar Bharath
(2) Manodarpan

(3) Deeksha

(4) Sahayog

Tomerht arerrl | A wre TaUt g8 & TayE & foe e T, TR TR 51 IS R
TR TH | ®?

(1) eTerfAsR yrd

(2) HAEY

(3) Sram

(4) HEEm
Options:-

=1, Option ID :- 465,
« 2, Option ID :- 466,
=« 3, Option ID :- 467,

= 4, Option ID :- 468,
Answer Given:- 2, Option ID : -466

Question ID:- 118

The Local Community Centre in learning facilitates :
(1) Friendship
(2) Vocabulary
(3) Shared values and norms
(4)

Understands community




sfere H v "R e FerEdl i ©
(1) T

(2) e §

(3) Hedi 3R HFEE] I HEl H H

(4) HHIA B FEE H

Options:-

«1, Option ID :- 469,
=« 2, Option ID :- 470,
= 3, Option ID :- 471,

= 4, Option ID :- 472,
Answer Given:- 4, Option ID : -472

Question ID:- 119

The concept of “Extended Learning’ could be promoted by :
1

(- School
(2

&

(

3 Cinema Hall

4

)

) Play ground
)

) Home

‘Taraifia afamm’ &) Saea 1 fraes g demEn fezn s 9 € 2
(1) Terrer gra
(2) ©d % HSH FR

(3) T & g
(4) =GN
Options:-

«1, Option ID :- 473,
=« 2, Option ID :- 474,
= 3, Option ID :- 475,

= 4, Option ID :- 476,
Answer Given:- 4, Option ID : -476

Question ID:- 120




If any body part is lost, it is known as
1

(1) Handicap
(2) Disability
(3) Impairment
(4) Disorder

7Ifg TR 1 HIE 9 W 8 Sa 8, 0 39 o1 Hed © 2

(1) Teeretiman

(2) e

(3) &fd

(4) fopm
Options:-

=1, Option ID :- 477,
« 2, Option ID :- 478,
=« 3, Option ID :- 479,

= 4, Option ID :- 480,
Answer Given:- 3, Option ID : -479

Subject : SOL_Q121-Q150_PRINSH1
Question ID:- 121

6o ‘01'djng to RTE Act 2009, preparation of school development plan is whose responsibility ?
Parent Teacher Association

The School Management Commiittee

oh]

Principal of the school

_—
N =
.

A Committee of senior teachers appointed by the Principal

Toren &1 eaferepm safufem, 2009 % 9ER, Taamem faem dem TR F33 &) faert s 82
(1)  sfquTes-foees |99
(2) Temmem weEe wfbfa
(3) Teaemera-gurEE
(4) guFEE g MY At seamgen] ot wifd
Options:-
«1, Option ID :- 481,
= 2, Option ID :- 482,
= 3, Option ID :- 483,

= 4, Option ID :- 484,
Answer Given:- 2, Option ID : -482




Question ID:- 122

The best mentoring is
(1) monitoring

I3

(2) partnership for learning
(3) Supervisory and performance evaluation
(4)

4 A feedback mechanism

(1) eretem
(2) eIferm &g TERR
(3) THAs SR Freure geaiw
(4) TF WIgsH T4
Options:-

«1, Option ID :- 485,
= 2, Option ID :- 486,
= 3, Option ID :- 487,

= 4, Option ID :- 488,
Answer Given:- 4, Option ID : -488

Question ID:- 123

Which one may not be considered as a goal of performance review ?
(1) To provide people with feedback on performance

I~

To compare the performance with the expectations

(2)
(3) To assign grades/ranks
(4)

To provide opportunity for improvement in the current level of performance

w1 foared Tefian % @ed % ®9 § fFe . fo=m 72 foan s €2
(1) =r-fTeaEs ™ @rll 1 Bieas TaH &

(2) 3TUENS & WY FHE-FeET g s

(3) UeAH TG HLA

(4) HE-FIRT & FdHHE TR H YR+ {90 s/ o

Options:-

=1, Option ID :- 489,
= 2, Option ID :- 490,
=« 3, Option ID :- 491,

= 4, Option ID :- 492,
Answer Given:- 3, Option ID : -491

Question ID:- 124




Which one of the following may not be considered as a reason for setting goals collaboratively ?
(1) To gain agreement

(2) To create disengagement

(3) To manifest synergy
(4)

4 To set collective consciousness

TR el § @ey Tyl & o ue wrw & w9 § fohe ) faar =2 5 s g2
(1) weufd o< = % e

(2) Terfer Seq=1 &<

(3) Hefehan =ae T

(4)  GHfEF =6 TR HE

Options:-
«1, Option ID :- 493,

= 2, Option ID :- 494,
= 3, Option ID :- 495,

= 4, Option ID :- 496,
Answer Given:- 2, Option ID : -494

Question ID:- 125

An achievement test was administered on class IX. The results indicate 40 percent students scoring
below 40 percent marks. What should be done on priority basis, so as to improve learning level of
this group ?

(1) Administer a standardized test

(2) Administer a diagnostic test

(3) Administer an aptitude test

(4) Begin Remedial teaching

HET-1X T ek 3qerfe qdeton fepan T2 | afitomy =g g@nian © o6 40 wfae =& 3 40 wfaew 9 9 wrdis 9 |
TR & SR W P R S o 39 |1YE o i w1 H gun a2

(1) Uk HHehidhd TR0 &

(2) U TRIE T A

(3) U sAfiarar Tham &

(4) STEREE e TE @
Options:-

«1, Option ID :- 497,
= 2, Option ID :- 498,
= 3, Option ID :- 499,

= 4, Option ID :- 500,
Answer Given:- 2, Option ID : -498

Question ID:- 126




Which one of the functions of schools justifies the statement that a school should be pioneer of
social upliftment ?

(1) Normal function of school

(2) Conservative function of school
(3) Progressive function of school
(4) Reactionary function of school

fernmedi & #1199 /@ 39 $Y7 & FEET 380d © T e &1 g S o 9y geuiE 99
1fgu ?
(1) Terme™ & 9= #d

(2) Toemem & wfead #@

(3) former & ynfasita %

(4) Termera % wfafsrarses &
Options:-

=1, Option ID :- 501,
= 2, Option ID :- 502,
=« 3, Option ID :- 503,

= 4, Option ID :- 504,
Answer Given:- 3, Option ID : -503

Question ID:- 127

The main purpose of creating partnership with community is to :
(1) Raise funds

I~

(2) Improve school functioning
(3) Abide by regulations
(4)

4 Raising learnjng outcomes

HHEA o H19 YRR S 1 &9 3594 © ¢
(1) &7 e

(2) To=re™ o s § gUR

(3) fafradi &1 9red e

(4)  zaferme 9o 3= HE

Options:-

«1, Option ID :- 505,
« 2, Option ID :- 506,
= 3, Option ID :- 507,

= 4, Option ID :- 508,
Answer Given:- 2, Option ID : -506

Question ID:- 128




Schools must forge linkages with industry in order to :
(1) Promote vocationalisation

(]

(2) Promote entrepreneurship
(3) Generate opportunity for internship
(4)

4)  Get infrastructural support

Toamera =1 32T & 91y Hae 99F Jifeu qifen
(1) HAIHERI Sl FgrEl fadn 51 HeF

(2) i =i weE o 1 qF

(3) FRM * foru s/awr He fepn o W
(4) STEHEARHE wed fud 9
Options:-

«1, Option ID :- 509,
= 2, Option ID :- 510,
= 3, Option ID :- 511,

= 4, Option ID :- 512,
Answer Given:- 1, Option ID : -509

Question ID:- 129

Creating partnership among neighbouring schools would best help to develop :
(1) Mutual dependence

(2) Duplicacy

(3) Undue competition

(4)

Resource sharing

e famedi & e el 99H | 1 faetad g H it gerran e 2

(1) 9REafeR fAsi

(2) feuafa

(3) e gfaeaed

(4) HHHA T HE HA
Options:-

«1, Option ID :- 513,
« 2, Option ID :- 514,
= 3, Option ID :- 515,

= 4, Option ID :- 516,
Answer Given:- 4, Option ID : -516

Question ID:- 130




Organising students’ visit to higher education institutions may not be helpful in :
(1) Goal setting

I3

(2) Enhancing motivation
(3) Enhancing creativity
(4)

4 Enhancing Curi(}sity

3= Toren gl § o6 o S AEfed o frad arveres @ 2 ?

(1) &g FuRo §

(2)  sfygTon seH o

(3) goHIcHFA FH H

(4) oG aEH H
Options:-

=1, Option ID :- 517,
= 2, Option ID :- 518,
=« 3, Option ID :- 519,

= 4, Option ID :- 520,
Answer Given:- 3, Option ID : -519

Question ID:- 131

Which one of the following is not an essential skill to become successful member of the team ?
(1) Trusting others

(2) Technical skills
(3) Collaboration and sharing credit
(4) Willing continuous learner

2IH 1 Tk I%d Hed 974 o fou frefafed 9§ 9§ &6 91 e e @ g2
(1) a0 W favam e

(2) TR B

(3) HEHIATd LA SR 99 &l Fie

(4) F=gH Had Al

1
2

Options:-

«1, Option ID :- 521,
= 2, Option ID :- 522,
= 3, Option ID :- 523,

= 4, Option ID :- 524,
Answer Given:- 2, Option ID : -522

Question ID:- 132




Which one of the following may not be essential for creating and maintaining a process for goal
setting and achievement ?

(1) Communicating occasionally

(2) Being enthusiastic
(3) Tracking progress
(4) Investing time personally

ae-FraRor ok wiftd 29 T 9hRa OF w0 3R 38 s @ % fan fefaftad § 9 9o sifrer &
8?2

(1) - FHR FU9T

(2) SR EA

(3) It oAt FrET S

(4) SATRTG 9 H §H <0
Options:-

«1, Option ID :- 525,
=« 2, Option ID :- 526,
=« 3, Option ID :- 527,

= 4, Option ID :- 528,
Answer Given:- 4, Option ID : -528

Question ID:- 133

Cumulative records are important for the Principal of a school with a view to :

(1) Knowing the strength and weakness of students so as to streamline teaching strategies
(2) Identifying learning gaps amongst learners and providing remedial steps

(3) Understanding student profile at any point of time for giving testimonials to students
(4)

4 Enhancing students” interest in studies

ot famrmerm = gy o fou gfea sifieme g gfe o Feel €2

(1) BE % yae iR FASK 981 1 S & fore aifes foneror sriifat =61 ave ok SR a9 @ S 94 |
(2) ifermeRied o == st § @l ® 9gaH F SR STERICHE HoH IUTe HHAT |
(3)
(4)

3) ©E Sl YHITTH €4 & fou fordl ot 999 95 &1 YEEd i 9921 & fau)
4) egA H Bl & 59 FgE & o

Options:-

«1, Option ID :- 529,
« 2, Option ID :- 530,
= 3, Option ID :- 531,

= 4, Option ID :- 532,
Answer Given:- 2, Option ID : -530

Question ID:- 134




Which one of the following is the major drawback of Peer-tutoring ?
(1) Normal curriculum transaction suffers to some extent

(2) Quality of teaching gets compromised
(3) Over tutoring happens most often
(4)

4)  Matching tutors and peers is a difficult task

TR e & e | e w7
(1) S TIeT=E] &1 %1 $9 88 d quifad g 21

(2) foneor =t o | ol g |

(3) eafursrivi: sifd arforer g 2

(4) Torererl i TRedl 1 GHEH T Hied FH T
Options:-

«1, Option ID :- 533,
=« 2, Option ID :- 534,
=« 3, Option ID :- 535,

« 4, Option ID :- 536,
Answer Given:- 3, Option ID : -535

Question ID:- 135

When a teacher feels that learning is hard, drab and unsatisfying it will take a toll on :
(1) Students” enthusiasm and zest only

(2) Teachers” enthusiasm and zest only
(3) Classroom discourse
(4)

4 Both students” and teachers’ enthusiasm and zest

T HIE ALNIF T8 Togd F o e wfew, 9 &R srddmsHe g, a1 59 g W g9e g8 ?
(1) =Fae BT & IR SR S9 T

(2) he SATIF & IHE AL S T

(3) & H TR W

(4) O 3R FEATYH, S| oh IeuTe AN S W
Options:-

«1, Option ID :- 537,
= 2, Option ID :- 538,
« 3, Option ID :- 539,

= 4, Option ID :- 540,
Answer Given:- 4, Option ID : -540

Question ID:- 136




The basic difference between traditional schools and open learning schools is that :

(1) The former are systematic

2 The latter do not cultivate cultural values

(2)
(3) The latter use modern gadgets
(4)

4 The former carry personal touch

TR foRner SR gea At (sitom afHin) foemerl 5 gfae siaag € f
(1) o ferme ety ¥ |

(2) HE Aferm foene™ Wistas g &1 g T8 o ¢

(3) HF sAferT foramera sfre ST (TN ) T YERT HA © |

(4) ToRrTa former =SAfeaTa Seiy A Tl €

Options:-

«1, Option ID :- 541,
= 2, Option ID :- 542,
= 3, Option ID :- 543,

= 4, Option ID :- 544,
Answer Given:- 4, Option ID : -544

Question ID:- 137
What cannot be a part of institutional planning ?
Planning for :

(1) Admission policy and its implementation

(2) Internal assessment improvement
(3) Community development
(4) Democratic school administration

‘RTINS 9F R @ ahdl © 2

(1) 9o =fifq i sue fraremm &g R
(2) SR gedisd H R &g A

(3) EWEIa TR &g AR

(4) WArehaieh faRe™ TR B AR
Options:-

«1, Option ID :- 545,
= 2, Option ID :- 546,
=« 3, Option ID :- 547,

= 4, Option ID :- 548,
Answer Given:- 2, Option ID : -546

Question ID:- 138




The school children are likely to suffer the worst effects educationally from a teacher who :
(1) is an emotionally immature person.
2
3
-+

(2) has partial understanding of her/his subject.
(3) is weak in organizing her/his subject logically.
(4) funds it difficult to integrate the subject matter.

oo & =4 UH UH seAs ¥ ik w9 9 waitues gwifad €9 8 e
(1) wETHE ®9 § Fufiged 2|

) 9 o1qa oo w6 etifvres www €
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Options:-

«1, Option ID :- 549,
=« 2, Option ID :- 550,
=« 3, Option ID :- 551,

= 4, Option ID :- 552,
Answer Given:- 1, Option ID : -549

Question ID:- 139

Teaching environment in the school can be adversely affected by :
(1) Frequent PTA meetings

(2) Freedom given to teachers to use innovative methods
(3) Practising corporal punishment
(4)

4 Children’s motivation to write for wall magazine
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Options:-

=1, Option ID :- 553,
= 2, Option ID :- 554,
= 3, Option ID :- 555,

= 4, Option ID :- 556,
Answer Given:- 3, Option ID : -555

Question ID:- 140




The main objective of organizing work experience in school is

(1) establishing relationship between school and workplace.

2) coordinated development of learners.
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3) preparing youth for future vocations.
) providing free time to teachers after engaging students.
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Options:-

«1, Option ID :- 557,
= 2, Option ID :- 558,
=« 3, Option ID :- 559,

= 4, Option ID :- 560,
Answer Given:- 2, Option ID : -558

Question ID:- 141

As a team leader you have assigned tasks and made certain people responsible. What kind of
support you will need to provide in order to see the desired outcomes ?

(1) Materials

(2) ICT
(3) Monitoring
(4) Authority
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Options:-

=1, Option ID :- 561,
=« 2, Option ID :- 562,
=« 3, Option ID :- 563,

= 4, Option ID :- 564,
Answer Given:- 3, Option ID : -563

Question ID:- 142




A few characteristics of four Heads of institutions are mentioned below. Name the one who will be
considered successful.

(1) Grants leave to subordinates only after they complete the assigned task
2

(2)
(3) Does not disturb subordinates once tasks are assigned and supports them on demand
(4) Maintains discipline and monitors well

Grants leave to subordinates as and when they require
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Options:-

«1, Option ID :- 565,
= 2, Option ID :- 566,
= 3, Option ID :- 567,

= 4, Option ID :- 568,
Answer Given:- 3, Option ID : -567

Question ID:- 143

In an orientation of teachers prior to evaluation three teachers are given copies of the same script,
The Principal in charge of orientation programme wants to ensure that all the three teachers award
same marks on particular questions. She/He is concerned with which of the following ?

(1) Validity of the test

(2) Objectivity of the test
(3) Reliability of the test
(4)

4 Scoring efficiency
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Options:-

«1, Option ID :- 569,
= 2, Option ID :- 570,
« 3, Option ID :- 571,
= 4, Option ID :- 572,




Answer Given:- 2, Option ID : -570

Question ID:- 144

Which one of the following is not an advantage of democratic decision making in schools ?
(1) Diffusion of responsibility

(2) Value inculcation

(3) Positive work environment
(4)

Promotion of equality
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Options:-

«1, Option ID :- 573,
= 2, Option ID :- 574,
= 3, Option ID :- 575,

« 4, Option ID :- 576,
Answer Given:- 2, Option ID : -574

Question ID:- 145

Mothers are preferred with MTAs for small children’s schools because they :
(1) can help in planning remedial steps.

(2) can take care of their mental development.

(3) are well conversant with rules and regulations.
(4)

4)  happen to be more intelligent.
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Options:-

=1, Option ID :- 577,
« 2, Option ID :- 578,
=« 3, Option ID :- 579,

= 4, Option ID :- 580,
Answer Given:- 1, Option ID : -577

Question ID:- 146




What is not the purpose of the vision of a school ?
(1) Generating mental image of the school for possible and desirable future of the school
(2) Describing some of the highest priorities of the school

(3) Publicly declaring the basic purpose and commitments to portray the present image of the
school

(4) Creating a picture that the school seeks to create
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Options:-

«1, Option ID :- 581,
= 2, Option ID :- 582,
= 3, Option ID :- 583,

= 4, Option ID :- 584,
Answer Given:- 3, Option ID : -583

Question ID:- 147

Which one of the following is the latent function of the school ?
(1) Transmitting culture

(2) Socialization
(3) Inculcation of values, beliefs and attitudes
(4) Social control
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Options:-

=1, Option ID :- 585,
= 2, Option ID :- 586,
=« 3, Option ID :- 587,

= 4, Option ID :- 588,
Answer Given:- 2, Option ID : -586

Question ID:- 148




Which one of the following may not be considered as its advantage ?
(1) Independence

I3

(2) Personality development
(3) Unrestricted supervision
(4)

4) Healthy competitive spirit
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Options:-

«1, Option ID :- 589,
= 2, Option ID :- 590,
= 3, Option ID :- 591,

= 4, Option ID :- 592,
Answer Given:- 3, Option ID : -591

Question ID:- 149

What will be the major limitation of school budget ?
(1) Involvement of different interest groups

I~

(2) Improvement of performance
(3) Inspiration tool
(4) Inflexibility
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«1, Option ID :- 593,
=« 2, Option ID :- 594,
=« 3, Option ID :- 595,

= 4, Option ID :- 596,
Answer Given:- 4, Option ID : -596

Question ID:- 150




Which one of the following may not be considered as a principle of school supervision ?
(1) Professional development

(2) Supervision with standardized tools
(3) Delayed of feedback
(4)

4) Equitable coverage
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Options:-

«1, Option ID :- 597,
= 2, Option ID :- 598,
=« 3, Option ID :- 599,

= 4, Option ID :- 600,
Answer Given:- 3, Option ID : -599




